Efficiency vs dr

x 0.01
<
9.009
.008
&
®.007
=
9.006
0.005
0.004
0.003
0.002
0.001

1.9

— 0 CMSSW_ckiPUS0 __RECO
—e— DQM_V0001_R000000001 Global CMSSW_ mkFItPUSOLOWPtQuad RECO
—— DQM_V0001~R000000001_Global__CMSSW_LowptQnoSC_REC

Ratio

.|——D M_VOOOZL ROOOOOOOOl GIObaI_CMSSW_LOWpt noDC_| RECO

o
©
a

1072 107

=
S
w

1
TP min AR

[ Efficiency vs dr (track,jet) |
§0.01
n0.009
)
gJ.OOS
9.007
>
2.006
Q
:-'=0.005
@
0.004
0.003
0.002
0.001

[y

107 1072 107t
AR(TP, jet)

Efficiency vs pu

5 0.0l————
3 S N T
e

Y0 RO RSO SO S SO e
) E : : : : : : :

T S S St R S
= E : : : : : : :

RS S R S L MMM 2
T e
e e e

N s
0.002 T R R
0.001

1.0

Ratio

095~ 52 54 56 58 60 62 64
Pileup



	Contents
	Page 1


